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TRANSFER ALL YOUR ANSWERS ONTO A SEPARATE ANSWER SHEET 
 
 

I. READ THE TEXT AND ANSWER QUESTIONS 1-8, CHOOSING A, B, C OR D. 
 

 
 



 

__/8 
 

II. FOR QUESTIONS 9-13, CHOOSE FIVE WORDS FROM THE TEXT THAT BEST MATCH 

THE DEFINITIONS GIVEN.  
NOTE* THE DIALOGUES DON’T COUNT AS PARAGRAPHS HERE. 
 

9. 

1. filled  (PARAGRAPH 1)  

10. 

2. a great number of  (PARAGRAPH 1) 

11. 

3. very rich  (PARAGRAPH 2) 

12. 

4. got shifted to a vertical position  (PARAGRAPH 3) 

13. 

5. had a quick look in one’s direction  (PARAGRAPH 4) 
___/5 

 



III. READ THE TEXT AND FILL IN THE GAPS 14-20 WITH THE MISSING SENTENCES 

A-H. ONE SENTENCE IS UNNECESSARY. 

 
 

 

  

     ___/7 
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 15 

  16 

  17 

  18 

  19 

  20 



IV.  FOR QUESTIONS 21-35, READ THE TEXT BELOW AND THINK OF THE 
WORD WHICH BEST FITS EACH SPACE. USE ONLY ONE WORD IN EACH 
SPACE. THERE IS AN EXAMPLE AT THE BEGINNING.  

 

Pollution 

 

 With 0) …the… combination of deadly car fumes and an alarming amount of 

industrial toxins, Mexico City is by 21) ……… the most polluted city in the world. It is so 

polluted in fact 22) ……… it has broken the World Health Organisation’s  safety levels. 

 23) ……… to lack of pollution control, little has 24) ……… done to improve the air 

quality of Mexico City. The 30,000 industrial factories that operate within the city have 25) 

……… regulations whatsoever regarding the release of toxic waste 26) ……… the 

atmosphere. This, combined 27) ……… the one million barrels of leaded petrol used 28) 

……… day, has caused pollution levels to sky-rocket. 

 The city’s dilemma is made 29) ……… by its high altitude. Situated on a 7,000 foot 

high plateau and surrounded 30) ……… mountains and volcanoes, the pollution has no 31) 

……… of escaping and becomes trapped. 

 Mexico’s government is worried about the pollution, but sadly, the efforts that have 

been 32) ……… so far, such 33) ……… only allowing cars to operate for six 34) ……… of 

seven days, are simply 35) ……… enough. 

           ___ / 15 

 
V.  FOR QUESTIONS 36-60, CHOOSE THE CORRECT ANSWER. 

0.  There was no wine left, so they had to …..d….. beer. 

 a. make up with   b. do away with  c. do up with     d. make do with 

   

36.  One of the major environmental ….. that needs to be considered is deforestation. 

a. warnings   b. laws   c. issues  d. measures 

 

37. Wildlife is ….. threat in many parts of the world. 

a. in    b. at    c. under   d. over 

 

38. Jane’s teacher told her that she would have to work hard to ..... up with the other students 

in the class. 

a. pick    b. catch   c. get    d. stand 

 

39.  The soldiers were exhausted and couldn’t move back any further, so they had no choice 

but to ..... . 

a. surrender   b. conquer   c. invade  d. retreat 

 

40. Very occasionally, an outstanding person comes along who changes the ...... of history. 

a. course   b. route   c. path   d. way 

 

41. She’s a bit plump, but she buys clothes that ….. her shape so she always looks good. 

a. flatter  b. enhance   c. develop  d. correct 

 

42. When she told me she was going to live in Australia, I was taken ….. . I just couldn’t 

believe it! 

  a. back   b. aback   c. behind   d. under 



 

43. The shopping centre is easily ….. from the motorway. 

a. affordable   b. accountable  c. available   d. accessible 

 

44. Don't wash that sweater in hot water, ….. it will shrink. 

a. unless   b. if    c. moreover   d. otherwise 

 

45. This house is so old now. When it rains, the windows leak and the roof needs to be 

replaced soon. ….. , we love it and would never move to another. 

a. nevertheless  b. although   c. though   d. despite 

 

46. Why are you blaming your sister? In my opinion, you are ….. to blame for this accident! 

a. strongly     b. dominantly   c. entirely   d. freely 

 

47. You must be exhausted – you ..... for two hours now. 

a. run    b. are running   c. have run  d. have been running 

 

48. It was the most beautiful thing that anyone ..... to him in his life. 

a.  said ever  b. had ever said  c. was ever saying  d. had ever been saying 

 

49. They ..... to bed by the time we get there. 

a. will go  b. are going to go  c. will be going  d. will have gone 

 

50. He is considering ….. a new house. 

   a. buying    b. buy       c. to buy   d. will buy 

 

51. I wish she …..what she was doing!   

 a. know   b. knew   c. known   d. would know

   

52. She woke with a bad stomach ache. It ….. something she'd eaten. 

 a. must’ve been  b. should’ve been  c. would’ve been  d. had to be 

 

53.  Jonathon said he ….. a great time at the party at your place. 

 a. had    b. ‘d had   c. ‘d have   d. ‘s had 

 

54. He wouldn't be very happy if he ….. his daughter had been in trouble again. 

 a. heard   b. hear   c. ‘d hear   d. ‘d heard 

 

55. I heard the police ….. dozens of people before they made an arrest. 

a. were interviewed  b. have been interviewing     c. had interviewed  d. interview 

 

56. They should start thinking (o sobie) not just about their children. (CHOOSE THE BEST 

TRANSLATION)  

a. about ourselves         b. about oneself  c. about theirself   d. about themselves 

 

57. The tickets for the concert (są sprzedawane) right now in the box office across the hall. 

(CHOOSE THE BEST TRANSLATION)  

a. are being sold          b. have been sold    c. are sold  d. are to sell 

 

58. Jeff’s uncle suggested (żeby poszukał) another place to practice the drums. (CHOOSE 

THE BEST TRANSLATION) 

a. him to look for         b. that he looked for   c. for him to look  d. to look for 

 

 

 

 



59. You (niepotrzebnie) worried about Fred, he is all right. (CHOOSE THE BEST 

TRANSLATION) 

a. shouldn’t have         b. couldn’t have    c. didn’t need to  d. needn’t have 

 

60. I will never get used (do wstawania) at 6 a.m. (CHOOSE THE BEST TRANSLATION) 

a. to get up                   b. to getting up    c. get up   d. getting up 

  
___/25 

 

 

 
VI.  FOR QUESTIONS 61-70, COMPLETE THE SECOND SENTENCE SO THAT IT 
HAS A SIMILAR MEANING TO THE FIRST SENTENCE, USING THE WORD 
GIVEN. DO NOT CHANGE THE WORD GIVEN. YOU MUST USE BETWEEN 
TWO AND FIVE WORDS, INCLUDING THE WORD GIVEN. THERE IS AN 
EXAMPLE AT THE BEGINNING (0).  

 

0. Airlines don’t allow smoking on planes.   

PROHIBITED 
It is prohibited to smoke on airplanes. 

 

61 The campsite doesn’t provide tents.  

 EXPECTED 
You ________________________________________ own tents. 

62 The weather was terrible, but we still went sailing.  

 DESPITE 
We went sailing ________________________________________. 

63 You needn’t wait for me.  

 HAVE 
You ________________________________________ for me. 

64 We will send the books by courier.  

 BE 
The books ________________________________________ you by courier. 

65 The film was so boring I fell asleep.  

 A 
It ________________________________________ that I fell asleep.  

66 I’m sorry I left that company. It was a mistake.  

 ONLY 
________________________________________ left the company. It was a mistake. 

67 I failed because I was so tired.  

 IF 

I __________________________________________________ I hadn’t been so tired. 

68 I’ve never had such a bad meal.  

 EVER 
It is the ____________________________________________ had. 

69 ‘Don’t do that again,’ she told me.  

 WARNED 
She ________________________________________ that again. 

70 I’ve only got a little money left.  

 HARDLY 
I ________________________________________ left. 

 

___/10 
 

 
 
 



 
 
 

VII.  FOR QUESTIONS 71-80, READ THE TEXT BELOW. USE THE WORD GIVEN 

IN CAPITALS AT THE END OF EACH LINE TO FORM A WORD THAT FITS IN 
THE SPACE IN THE SAME LINE. THERE IS AN EXAMPLE AT THE 
BEGINNING (0).  
 

 

George Lucas‘s Star Wars transformed 20th century (0)  ENTERTAINMENT and 

raised audience (71)_____________________ to alarming heights for film producers.  

Since Star Wars was made in 1977 special effects have become (72) ____________ 

important in selling a film. The script of Jurassic Park, for example, was rather 

(73)______________ but the film was a box office success because the dinosaurs 

were amazingly (74)______________ . However, special effects do not always 

guarantee success. (75) __________________, when Lost World came out the 

technology was far superior, but people had become tired of dinosaurs and were 

simply not 76) ________________ enough to want to go and see them any more. The 

film was not nearly as 77)___________________ as its predecessor. But who is not 

impressed when they see Jar Jar Binks in The Phantom Menace, the first ever 3D 

interactive (78)_______________ character seen on film? Computer-generated actors 

are certainly the way ahead , but you may be surprised to discover that the most 

expensive special effect was filmed in 1956. The parting of the Red Sea in Cecille 

DeMille’s The Ten (79)___________________  cost an astonishing £ 2 million. But 

what does the future hold? It is (80) ___________________ to think that with 

computer-generated imagery filmmakers may be able to recreate deceased movie 

stars, such as James Dean and Marylyn Monroe. 

 

ENTERTAIN 

EXPECT 

INCREASE  

 

DISAPPOINT  

REAL  

INTERESTING  

 

MOTIVATE 

SUCCEED  

 

DIGIT  

 

 

COMMAND  

FASCINATE  
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TRANSFER ALL YOUR ANSWERS ONTO A SEPARATE ANSWER SHEET 

 
 
 
 
 

 

 
 

 

 

 
 


